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(5%) (a) Addressing mode
(5%) (b) Graphics processing unit

(5%) (c) Tablet PC D= S
(5%) (d) The von Neumann model G
WE
2. (2%) @F B W1 TR LAE - out
(8%) (b)i4 3% T B 8 4 - R

3. #\F i
(5%) (a) 33+ & 2 ¢ B 11 &7 01010101 Ap4e » B 184 57 o
(5%) (b) 7 #-(376.AC) 1688 = ~ & =8 F o
(5%) (c) ;i—;L 8 XOOFF XORX325C > &+~ =4 77 o
(5%) (d) 7 #-(18.75)10% = IEEE 754 328t s (Rl 2) » T R-F R+ g4 77 o

b 8b 23b

S |[Exponent Fraction

N = (=1)% x1.fraction x 2XPONent-127 "9 < exponent < 254

] 2

4, BRE - AR Flr Y BEBGET @8R S CBAEDGHFI ; £41% % Ayt v @
#4195 A 3 ABCDEFGHI -
(5%) (a)77% Mgt = ~pf o
(5%) (b)3f 216t = % Henis B 3E By 010 A <

5. (10%)z-* Prim's Algorithm - % B 3 £ minimum cost spanning tree -

e
=N
==
‘mL
It
i
&
)‘P«b
=
-

|+
N
-




Rz F 8 1018 &RFT LIS 43R4
. LIS o
S U ! (oL E
e s T AL L GHE ) Lpir i L

F IR 100 A 48 AL R4S H 100 A

6. (10%) How many times is the print statement executed for the following program segment ?
(Here, i, j, k, and m are integer variables)

fori=1to10do
forj=1toido
fork=1tojdo
form=1tokdo
print (i * j) + (k * m)

7. Consider the following C program.
int fun(int *i){
*1 += 5;
return 4;

}

void main(void){
int x = 3;
X = X + fun(&x);
}
What is the value of x after the assignment statement in main, assuming
(5%) (a) operands are evaluated left to right.

(5%) (b) operands are evaluated right to left.

8. (10%)3H AT eyt » HFE% 5 2

#include<stdio.h>
int recursive_call(int, int);

int main(void){

int m =8, n = 5;

int answer = 9;

answer = recursive_call(m,n);
printf("The result is %d\n", answer);

return 0;
}
int recursive call(int m, int n){
if(m == n) return 1;
if(n == 1) return m;
return recursive_call(m-1, n-1) - recursive_call(m-1, n);
}
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